=T

 ze
1

[E=m

rocTuHas |<yXH;|2
16,1m2 9,9v* | 1,7m2f{ 2,3m2 ==
|| 1
74,9M2 KyXHs rocTuHas
_ Tambyp 12,3m>2 17,1m?
3 2,6m2f| 3,5m? , | e ’ ’
8(0) B KOHCbepXHast 5’ 1 0 M 8%
cnarnbHs ]
12,2m2 © BIHHA 8,40m? ://\C 56;9M2
Kopuaop 2 _—
4,7m cly 2
2 ’ Kopugo
11,0m < TamGyp 1,8m2 NP
Krnajosas 5,20M2 O
2
1,6m 3. 6Mm2 cnanbHs “ﬂ'
c;réangg - 4.7 BN B,aHHa 11,0m?
e npuXoxas 3,7m2 Gopouere
\ 4.9m2 ’ npuxoxasi
’ 2 £ Ne T 3,2M2} |t
C/y nomeLl. ans npoxoaa =
, 1,9m Ned | e uell ™ | B
cnasnbHs Knafosas
10,5m? 2,6m? Kopmp,op;
=== = 35,9M
KOpVUJ.Op nomll(zu.\. ans np%‘oga non:l(gu.l. ANs NpoxoAa
i 5,1 M2 Y HIKaL yHyKal
9| FOCTI/IHazﬂ = HIM Ne1
NNERTOBA
13,2m 51 ,9M2 _ tpaXxy HeXurioe noMeLueHne L B
—— 2
2 npuxoxas 128,0m
5,2m>2 I
KYXHS1 [ IS
11,0m? = nudpTOBOI XOMN
O
cly c/
2 ) Yy
4,3m @ 6,70m? 13,5m2f]  5,30M?  y6op.
m e cly MHBEHT. B
oo |4 o o0 D M2 )
4,80Mm>2
cly
HIT Ne2
- . HeXunoe nomMelyeHue .
HIT Ne3 57,4Mm2
HeXunoe nomelyeHune
54,50m? .
Tamobyp
2 2
44,50m 5,20m 45,5002 By
117,70m 5,00Mm3
! —
29/1 - AP
MHOrokBapTUpHbLIA AOM, PachoSIOXEHHbIN Mo aapecy:
Hwxeropoackas obnactb, r HmkHun Hoeropoga, yn.
Wam. | K.yu. [Nuet | Ngok [NMoanucs|dara MywkiHa (I aTan cTpouTenkCcTaa)
Cragusa | Jluct JlnctoB
n 2
Wcnonunt. Jllasapes M.A. /)/ 07.2021
— MnaH 1-ro aTaxa c Hymepaumen KkBapTup 000
M 1:100 "MMA Nazapesa A. C."
H.KOHTp. Munosunaosg 07.2021




